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101 @124l 26,451 24,327 2,124
03 RIAHAZZ2HE > 26,451 24,327 2,124
OF &g 22X = 26,451
cJll2s(6s8) 1,206,360% * 1¥ * 123 14,477
SRR 14,477,000& * 1/12 = 400% 4,826
cHIIRSFI=E 75,008 * 1H = 12 901
o HEF Il 1,206,360& * 110% 1,327
oXHTHTE 160,000& = 1H » 12& 1,920
o g &l 120,000& = 1H = 123 1,440
oRlAxE 100,000& = 1H = 12& 1,200
= JHH 2 X Hl 30,0008 = 1¥ = 128 360
JlE&dl 28,992 28,324 668
JlE2&l 28,992 28,324 668
201 Let24E] 23,272 22,684 588
01 At 22l 20,772 20,184 588
ORA2Y JI23Hl 250,000& = 123 3,000
OANREE FL(SAMX &) 200,000& = 128 2,400
O#EANRINI A5
300,000& = 6CH = 23] 3,600
Ood=3=+J| dxaz 50,000& = 1CH » 12& 600
O=&Hl 7,000& = 199 = 7 « 1238 11,172
02 =224l 2,500 2,500 0
ORL= 2,500
202 odl 1,520 1,440 80
01 = LH o4 1l 1,520 1,440 80
OHl&azZf 2ol 1,520
203 YR =&l 4,200 4,200 0
04 FNSELRZ=LH 4,200 4,200 0
ORM2IYRFLH 350,000& = 12& 4,200
Ne2es(FHE ) 300,000 0 300,000
HWEHAXS(Z B L) 300,000 0 300,000
WEHHX S (ZHE D) 300,000 0 300,000
701 JIEtSI HSEES 300,000 0 300,000
01 JIEtel HE == 300,000 0 300,000
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